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1 e o o qRead & &9 H gETl wae gt o well At @ it frar o
The question paper is in the form of test booklet. All candidates w111 be assessed on
identical questions.

2. Wﬁ@#%amﬂawﬁﬁﬁmﬁﬁa?mwﬁwmmmm
39S IS STee | Hmﬂaﬁﬁ%aﬁnmaﬁaﬁmﬁﬁmmﬂaﬁm
&dr /A separate OMR answer sheet with carbon impression is provided to all candidates for

answering. The carbon impression of the OMR sheet will be detached and handed over to
candidate by the invigilator.
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AT # SiST T4 ¥ $6 IRGY F WAGed Fiady fraar gen?

A 10Q resistor is connected in parallel with a 15Q resistor and the combination in series with a 120
resistor. The equivalent resistance of the circuit is

(a} 370 (b) 18Q ¢ 270 (d) 40

Y& WS AT HT IR TF 41 §7 / What is the form factor of pure sine wave?
(a) 1.11 (b) 1.414 (c) 1.57 {(d) 0.909

T i H &A1 g1 £7 / A choke has

(a} ol @ HR G237 gar & / Necessarily an iron core
(b) =¥ =T / A large no of turns

{c} fascan &= / Closely spaced turns

(d) %7 & & 15 78T / None of these

HEY AT AT / Mark the correct expression

(a) 1=C %
(b} 1= 1/C(dv/dt)
{¢) Vv=Clidt

{d) T & & +5 &7 / none of these

frals & PeaR, v SEer wRuy & @ deter s & Sis

According to Kirchoff’s law, sum of all voltage drops in a series circuit

(a) = gl =T / must be zero

{b) H’f?r AeeST & sXET g ART / must equal the source voltage
(c) Qi FET / neither of the two

(d) vwg=rafew/ must be one

“BUGE FINT RF F WA IROT A IoT gl 371 T I5 T &2

“Ferrite cored inductors have generally higher value of inductance”. Is it true?
(a) @&/ Yes

(b) =@l / No

(c) = 16T / Not necessarily

(d) 57 & & F1F 7El / none of these
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7.

10.

11.

R AT T FReiAe dead H & el 87
Thevenin’s theorem reduces a two terminal network to a

(a) wieEmar & §rF GEEET & #e ST / current generator in paralle! with animpedance
(b) wfcwemen & & ag;rarr 3 drevsr Sfer / voltage generator in series with an impedance
(c) Uwe Tife= 2=a% / one terminal network

(d) =T ¥ PE ##& / none of these

T FARIAT AT TR A=10pH vd C=30pF § ST ST & Frger wefod SRy FA: 200 o
100 | 3 TX ST fHde grm?

A parallel resonant circuit is formed from A=10uH and C=30pF having an associated resistances of
200 and 10€ respectively. impedance at resonance is

(a} 10
(b) 3wicvinfinite
(c) 6.66Q

(d) =% & ¥ F$ ¢ / none of these

mmﬁmmﬁmﬁﬁﬁW%mm%ﬁﬂm%mm%?
The method which can be used for the speed control of induction motor from stator side is

(a) V/f = V/f control
(b) = FEET FJ ¥ for VT fga’r £ gwar & forEor / controlling number of stator poles to

control N
(c) ¥ ufuy # &R i sieds / Adding rheostats in stator circuit

(d) sogea @l /Al of the above

wF A.C. IRay &, qraY T T R gt §?
In an A.C. circuit power is dissipated in :

(a) Fae wferiy # / resistance only

(b) &aer 9T & / inductance only

(c) ¥aw aiRar & / capacitance only

(d) s & ¥ @5 7 / none of the above

ﬁmﬁ@aﬁ“ﬁmﬁmﬁwm@rhmaﬁmﬁ?
Which of the following can be used to increase range of a meter?

(a) ee/Shunt

(b) CT

(cy PT

(d) e @l /Al of the above
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12. U SHIAIARR dicHdHe] &1 9399 fad foe faar smar &2

A dynamometer Wattmeter can be used for
(a) DCandAC

{b) DCOniy

(c) ACOnly

(d) ofaRreT A" / Measure resistance

13. U USIweT #, 37ATT ST fhad AT Sar §7

In

(a
(b

an Anderson the un-known inductance is measured in terms of

} T 9RoT wd 9f3WEr / Known inductance and resistance
) I aiftar vd 9fa’ier / Known capacitance and resistance

() Fma afeRer / Known resistance

{d

} 3 wor / Known inductance

14. UF 9ET Yesh Aed & 371 a1 87

A

(a
(b

power factor meter has

}  UF Fe 3R & @ s / One current and two pressure coils
) UF #ie HR UH g FEA / One current and One pressure coil

(c) & =T 3T vs @ Fiea / Two current and one pressure coil

(d

) 54 # ¥ FF 78" / None of the above

15. wmﬁ,ﬁmmﬁmmmmmﬁ

In

(a
(b

a transformer, which winding has more cross sectional area

) 3= e aisfser / High Voltage winding
) @& Qiees aEfder / Low voltage winding

() wrufdw aEfEer / Primary winding

(d

) &fadms aiEfEer /Secondary winding

16, way TEEEFR H, Gfeawe gt & iates e o g e o 22

In Power transformers, Spacers are provided between adjacent coils for

(a
(b

) e dd & FE waE & o/ Providir;g free passage of cooling oil

) iger F v gEt ¥ Rega I / Insulate coils from each other

{¢) (a) @&r (b) =T / Both (a) and (b)

{d

)} T A7 & IE A8 / None of the above

18
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17. ®Ra F 3eaanm AC HaROT ST £2 1 Highest AC transmission voltage in INDIA s

18.

19.

20.

21.

22.

(a) 750kV (b} 850kV
(c) 400kV (d) 600kV

orErrERt #, aonghd S S FROT BT §7

Main reason for harmonics generation in transformers is due to
(a) s TTsg / Fluctuating load

(b) Forpee Taegd Jerer / Poor insulation

(¢} af¥enr et / Mechanical Vibrations

(d) IT & deer / Saturation of core

gared el o ¥ T AamEs & 87/ Bucholz relay provides warning against

(a) oiEwER H faegdra @ / Electrical Fault inside transformer
(b) @i WEE W -G/ Ground fault at load side

(I IGLEREEIRR afyger sieie / Short circuit fault at load side

(d) IwiEd F/ All of the above

we giEmET A o & & & &ar 82 / The function of breather in a transformer is

(a) &F & 35T Fiardtent watd e / Provide oxygen inside the tank _
(b) g FH A W Figer & Mad & / 1o cool the coils during reduced load
(c) iewnR ofierer =TT/ To cool transformer oil

(d) oEPER A sy & wder &A@ / Limit moisture entry into transformer

fegae FoT OROT ARY H, W%‘vﬁiﬂiﬂgﬁl}'jﬁwmﬁ?

In squirrel cage induction motors, rotor slots are given a slight skew to

(a) Toedia & =7 rere / Reduce windage losses

(b) @&y T a1 weeT / Reduce eddy current

(€} uw T e % wHa & "ers / Reduce accumulation of dirt and sidt
(d) g'am A @ "eEr / Reduce magnetic Hum

1000 rpm aTel Ue SROT Arex & e g@ 8 22 / Aninduction motor with 1000 rpm has

{a) Sg‘dlpoies (b) G%Q,a“lpoles
{c) 4%H/poles {(d) Zgﬁlpoles

6

amm(ﬁmﬁlgmﬁwwﬁﬁgm)/ SET
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23.

24.

25.

26.

27.

aifer FiaoT #r Yoy arr WEE ugia Rrad T aged gidr 872

Rotor rheostat control method of speed control is used for

(a) To&Faa &ar IM / Squirrel cage IM
(b) @dl e IM /Slip Ring IM

(¢} (a) = (b) g/t / Both (a) and {b)
(d) a1 & & ®15 781 / None of the above

aRay e & gey Taes & e fArmfaf@a § & = sraems g7

Which of the following is essential for remote operation of circuit breaker?

(a) Taui@ & €T / Inverse time trip
{b) wFE-3R feT / Time-delay Trip

() e &7 / Shunt Trip

(d) 39 & & Fg & / None of the above

ardrr ooy sistes & =27 8far &7 / Thermal Circuit breaker has

(a) fadfaa &a fhar / Delayed trip action

(b) @Ra &7 fFar / instantaneous trip action
(c) 3wwa &= / Both of the above

(d) &3 & F5 =T / None of the above

ardir e Rer ganr Aley & fad s Bear s 87

Thermal Overload relays are used to protect motor against

(@) 99T o=t / Short Circuit
(b) &Y s / Heavy Loads

{c) szwice / Ground faults

(d) 3wd=a @wel / All of the above

IRTY $ior WA fasd 3tihe wantela giar 87 / Circuit breakers usually operate under

(a) 9w sie=T e F &1 3rgFr / Transient state of short circuit current
(b) 9RYY SHeeT e F 39-gfUs 3yaEdT / Sub-Transient state of SCC

(c) ufwer s Fic & YT 379¥UT / Steady state of SCC

(d) DC ges & 9 g1 & a1g / After DC component has ceased

18
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28.

29.

30.

31.

32.

U HIE TEMAT I HR, g8 T ¥ S / Burden of a Current Transformer is the power

(a) CT#H&™ giam & / Dissipated in the CT

(b) Efds A @ 27 wrar & / Taken by the secondary load
(c) wufds W = / Load on the primary

(d) =T HS e / None of the above

Wﬁmﬁ@aﬁ$mmﬁ§3ﬁﬁﬁmwt3ﬁwmﬁm
The voltage appearing across the contacts after opening the circuit breaker is called

(a) e diedst / Recovery voltage
(b) FEF Aes / Surge Voltage

(c) st arees | Operating voltage
(d)y =9/ Arc

wﬂsﬁﬂﬁﬁﬂmmﬁw%ﬁwmmﬁ
Single phasing relays are used for the protection of

(a) enfta vrrferd Uehel st FeT / Capacitor run Single Phase Motors
(b} enfyr 3TTeT Tehel s Frer / Capacitor start Single phase motor
(c) wdwitdER AR/ Universal motor

(d) T et HEX / Three phase motor

o IRy S A, T B frest @YY &7 / Arcin acircuit breaker is interrupted at

(a) T FC ! Zero Current

(b) HRHIA Fie / Maximum current
(c} g greest / Zero voltage

(d) 3fmaH dets / Maximum voltage

AT ¥ 9, Wﬁwr}:mmﬁrmﬂwm%i
Conduit pipes are normally used to protect cables

(a) 3=eoa Hed / Unsheathed cables

(b) eHafaa Hadt / Armoured cables

(c}) PVC 3= 3aer | PVC Sheathed cables
(d) Zoder @l / Al of the above
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33.

34.

35.

36.

37.

38.

39.

Fad H, HTSS F 39T F4T f&Far Sar §7 / In Cables Sheath is used to

(a) = & s & FFHATH / Prevent entry of moisture

(b) = ufda werT &= & v / Provide enough strength

(c) = faggaiua gge Xl & o / Provide proper insulation
(d) s & & #1E 761 / None of these

Fgel % sdlsiel ¥ & giar §7 / Neutral grounding helps in

(a) 3w =T @ Terh § / Reducing ground fault current
(b) Wel-tiee e &7 el & / Reducing Phase fault current
(c) g gu=He Yk ST § / Provides neutral isolation

(d) 3wd=T |wel / All of the above

ffat@a & ¥ iaar “‘@3i@s de” &2 / Which of the following is “Universal Gate”

(a) OR (b) EX-OR (c) AND (d) NAND
8051 F&H foeaa fesT ot W ToheT &

The 8051 microcontroller can handle interrupt sources

(a) 3 (b) 4 (€ 5 (d) 6

U HeFAFT FaUE # Ry = 1KQ vF Re= 100KQ &1 sFeirer-o[T dlecst dfey el gai?
A certain non-inverting amplifier has R; = 1 KQ and R¢ = 100KQ. The close —loop voltage gain is

(a) 10000 (b) 1000 {c} 101 (d) 100

ar WaTeX R1 =36 Q5% 31T R2 = 75Q:+5% #@ar F SIg av &1 Fer wfadry fra=m gem?
Two resistors R1 = 36 Q+5% and R2 = 750+5% are connected in series. The total resistance is

(a) 111+00 (b) 111+2.7780
(c) 111£5.55Q (d) 111+7.23Q

AT FHET & 0T, IUSIOT 4T g19? / Due to overdamping, the instrument will become

(a) efiHSlow

(b) 3mRvA/Lethargic

(¢} (a) @ur (b) &= / Both (a) and (b)
{d}) = & & :% 87 / None of the above

L]
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40.

41.

42,

43.

44.

45,

u% 400/100V TEREER &0 pu sfasTar 0.05 &1 IRwer sioe odieror & gRie qot &S ae & qReFor
¥ o HV T1gs dieea favderr E19m?

A 400/100V transformer has pu impedance of 0.05. The HV side voltage required to circulate full
load current during short-circuit test is

(a) 40V (b) 20V
() 10V (d) 5V

FE TIEFAT &7 AT W= o131 92 / The transformer which will have the largest size is

(a) 100kVA, 25 Hz (b) 100 kVA, 100 Hz
(c) 100 kVA, 50 Hz (d) 100 kVA, 60 Hz

OOT HeY & Tolle I TrgE o a3 frad e el &7

Skewing in the slots of an induction motor is provided to reduce

(a) <ig & / iron loss (b) @/ noise
(c) Emgfatharmonics (d) @ gfg / temperature rise

FATER TiEhER @8 & 5y 3R 9T §ET & 87

Transformers operating in parallel will share the load depending upon their

{a) ewor wfaara/Leakage reactance

(b) YfEeT/Rating

(c) esar/Efficiency

(d) wfaer wfaergrPercentage impedance

e e For YO #, S g AW F9 ¥ IR o, O ggor e e g 82

In a three-phase system, when the loads are perfectly balanced, the neutral current is

(@) ==/ Zero

(b) 3forras @ TE-TEE / one-third of maximum
{¢) 3RFas # ar-fags / two-thirds of maximum
(d) F¥ad 9/ at maximum

T st TTERRR F FN-FR FaFe &, Ay V, oiget dieest § 3R [, oisa e ¥, df hel aede 3R
¥t Fe fohaar grem?

In star-star connection of three phase transformer, if V, is the line voltage and /, is the line current
then phase voltage and phase current is given by

{a) WV /v3, 1 (b) Vi, I

(C) V3V, ||_/\I3 (d) Vi, ||_/'\I3

10 18
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46.

47.

48.

49,

50.

T TEEER & ufa == | fhder ReT giar &7

The average emf induced per turn in a transformer is given by

(a

)

(c)

1.11f Oy, ' (b) 0.5f O
4f Op, (d) 8f O

R 7 fGEe o wme & A, Ay W fraer giefr?

For the load cycle shown in the figure, the rating of the motor should be

(a)
(c)

K

300 I
1
I ]
4 E b3
o 20 40 &0 680
SECONDS ——i
600 kW (b) 350 kw
300 kw (d) 275kw

FeR¥E AT 1 THIOT o Ha 3R g 87

The flicker effect of fluorescent lamp is more pronounced at

(a)
(b}
{c)
(d)

o1 diecst ./ lower voltages
3= dlecal / higher voltages
et i / lower frequencies
3=g 39fd / higher frequencies

T SCR & ofafeder sic 18mA §1 38e aifeser s faar giem?
The latching current of an SCR is 18mA. Its holding current will be

{a)
(c)

6mA
54mA (d} 12mA

(b) 18mA

U UPS & &l §& # 250 2v, 100AH cells, (C10 X&) @ si@ar # § f@dr fwsi &3 50A DC §
Ig UPS fhast 3@ g =emem?

A UPS with battery bank consisting of 250 numbers of 2v, 100AH cells, (C10 rating) in series is
discharged at a rate of 50A DC. The UPS can support for a period of

(a)
(b)
(c)

(d)

2%¢ / hours

2 8¢ ¥ & / Less than 2 hours

29¢ ¥ 38« / Greater than 2 hours
1092 / hours

11

18
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51.

52.

53.

54.

55.

56.

T g sTsEar & s A FH 4z & 12 6T & faw 2000kW, 0.8 lag @@ 12 6t & faw
1000kW UPF | al1g ered fordeTr gla?

An Industrial consumer has daily load pattern of 2000kW, 0.8 lag for 12 hours and 1000kwW UPF for
12 hours. The load factor is

{a) 05 (b) 0.75
() 0.6 (d) 2.0

w75-zﬁ$‘ﬁﬂamﬁ,aam4Awﬁﬁm%,aTgwammmﬂrm
What is the magnetomotive force in a 75-turn coil of wire when there is 4 A of current through it?

(a) 18.75At (b} 30At
(c) 300At (d) 187At

TAfHAT T T BEd [Sus &l yeTer giar 87 / Fleming's Left hand rule is applicable to

(a) DC sf= / DC generator {(b) DC #ex / DC motor
(¢) eiEmER/Transformer (d) weEfaa/Alternator

mﬁ@amaﬁsﬁmﬁrwzﬁammsoomma?rmﬁrqmaewiaﬁnﬁagﬁsﬁ
ﬁmﬁsﬂgﬁmmmmﬁmm%qﬁﬁw%mﬂaﬁﬂmm&ﬁa@
Y R g

" A 2-pole series motor with its two fields coils connected in series runs at a speed of 500 rpm. If the

field coils are reconnected in parallel and assuming that the torque is constant and the magnetic
circuit is unsaturated, the new speed will be

(a) 250rpm (b) 500/+/2 rpm

() 500 2 rpm . (d) 1000 rpm

meq\dﬂaﬂmmkﬁwwmﬁﬁqaﬂwmm%’?
skew is used in induction motors in order to reduce torque due to

(a) rer oML / time harmonics

(b) 3iaT IEMgRY / space harmonics

(¢) weife FEmga / slot harmonics

(d) =geshe afsRaAoT ®res / reverse rotating fields

1400rpm WX dc Fex 140nm goier faenfae Feht | 100 rpm T Fex e goter fawfae Fl?

The dc motor develops a torque at 140nm at 1400rpm.If the motor now runs at 100 rpm, the
torque developed will be

(a) 140Nm (b) 2000Nm () 71Nm ({d) S51Nm

12 18
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57. wemer Afrensa oY fRa aHar o Aed & o 3w g a2
Direct online starter also called D.Q.L. starter is used for motors having capacity
(a) 5 h.p.¥ & / Less than 5 h.p.
(b) 10 h.p.®& & / Less than 10 h.p.
(¢} 10 h.p.w 3% / Greater than 10 h.p.
(d} &Y ofr egwar Fr Hiex / For any capacity motor

58. go = & U= g [T f&ar Sar g2 / The circle diagram can be used to
(a) fafer &z srawurst & o ROT A F AvUEE F @A / Predict the performance of an

induction motor under various foad condition
(b) T 9RUT HeT FH §IW Iar @ / Find losses in an induction motor

() ue WRuT Hiex &ir 2&Iar / Efficiency of an induction motor
(d) 3% @l / All of these

59. uF 4 gg ®WeX g 50 He, 3 T OROT AT & IS Aew F oSl §, OwH v wiwd wer
Tongfy &1 Oiwd e eI i ara e gl
A 50 Hz, 3 phase induction motor with 4 pole stator is supplied by mains, which contains a
pronounced fifth.time harmonic. The speed of the fifth space harmonic will be

(a} 100 rpm (b} 300rpm
() 600rpm {d) 7500 rpm .

60. TF Jegrell Al H, HHEAS ORI AT S & §ThRT & HROT SieleT 1 gfshar & a9 & forw s
¥ ST &2

In a synchronous motor, the phenomenon of hunting caused by the sudden application or removal
of load is prevented by

(a) 3raFesT arsfEer w1 39T / Using damper winding

(b) T &r 39T / Using a capacitor

(c) 9" & 39ET / Using an inductor

(d) 39T @l / All of the above

3

13 18
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10.

aaﬁﬁwqaawamam/mﬂwﬁmﬁmm,aﬁﬁmmﬁwqm.
@), (), FAT () FE] g1 3T § U @ el Wl 21T /Each objective question is provided

with a text and/or figures wherever applicable with multiple answer choices (a), (b), (¢)
and (d). Only one of them is correct.

mm%mwmm@ﬁﬁtm@ﬁlmmﬁﬁgﬁamw%@ﬁe@
Fel S HUAT TAF A W HoIA A &yt %Y /Read the instructions on the OMR sheet

carefully. Use only Blue or Black Ball Point Pen for writing on OMR sheet and marking
your answers.

mﬁamﬁrwsw%maﬁ%aﬁrmagwmmsﬁaﬂéwaaﬁweﬁm
I Ieal g UH IR T SeEn All objective type questions carry equal marks of
THREE for a correct answer, ZERO for no answer and minus ONE for a wrong answer.

wmaﬁﬁmmﬁwwmmamml
Multiple answers for a question will be regarded as a wrong answer.

ﬁaaﬁm@a%ardm%mﬁaﬁﬁﬁgmgmgﬁﬁﬁaﬁmm,a‘raﬂwrmaﬁt
# U av Fivs gur 39gFd goge #F fawem e & / Question booklets have been

marked with A or B or C on the right hand top corner, which is mandatory to be written on
the OMR sheet in the box and bubble appropriately, failing which, the answer sheet will not
be evaluated.

ITaYEE @ W 6 SR & qfead F RU T Red FAE FT 3T FEFS & IoRT & W
$7 ofie 3Tee A8 FS Sedlr /Space available in the booklet could be used for rough work,
if required. No separate sheet will be provided.
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too difficult for you. You can go on to other questions and come back to the difficult ones
later.
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the test (1) Written test call Letter(s) with photograph pasted on it and (2) OMR

Answer Sheet shall be returned te the invigilator and shall not be carried by the
candidate under any circumstances.
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